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H
P(A) = P(A| B)P(B) + P(A| B)P(B)
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Solution.
(1) fflily P{X =1} = GECEO] _ 81 g patiofy 43 BN R, #5 1 R BU/IMEERIY
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NP STz el V] 1 S

Solution. O
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55 0 R I5(2) B n-1 RN T AT8UK, 5 n ik RM T WAL Ay ={k },P(4) =
p; By = {k RSB HPIEr BUR Y, i P(By) = pr, WA
B, = Bn—IAn + KATI

Xl TaSg FIREE s, A

Est = P(B,1)P(A) + P(B, ) P(A,)

- (1 - p)pn—l +p(1 - pn—l)
=p+(1—2p)pa
AR R, AT LR

1 L ompyon (1—2p)"
w— == (1= 2p)[poy — =] = W
Pn =3 (1 —2p)[pn- 2] 5
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P(X=o0dd)=P(X=1)+P(X=3)+...+P(X=n—-1)
=Cy(1=p)" "+ O (L =p)" P .+ O T (1= p)
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H P(X =o0dd) + P(X = even) =1, HF =%
P(X=odd) = P(X =1) + P(X =3) + ... + P(X =n — 1)
=-Colp=1)"" = O’ p - )" = =T T (p - 1)

P(X =even) =P(X =0)+P(X =2)+...+ P(X =n)
=Cp'p—1)"+... +Cp"(p— 1)

]
P(X =even) — P(X = odd) = C°(p — )" + Clp*(p— )" +... + C"p"(p — 1)°
IR (o, )
N 2P(X = odd) =1 — (2p — 1)" = P(X = odd) = =21
_ 1=(2p-1)"
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W P(Y =0)=1-P(Y =1) =0 2" O
B G 4 DNLERR 2 EBR, S8 2 DB 4 D EBR, B SIS pREm,

AR EL, WP G A3k, 4 S B, WA S @A A3k, AU A9 BK

WA B e i el e .
(D) 75 P REREBUASLLEK, SRS = IR th UG ZLER A RESR ;

(IT) # BT PHCHBUARLIER, SRELERERR A &R,



3.3 FHF 900 ®=F WME®
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Solution. 1% 20 YA A H IR AR ECH X, HEIAW L X ~ B(20,0.15), AW
B3 X = k FIHRB AT RERES R, AT P(X = k) > P(X =k — 1), P(X = k) >

P(X=k+1)H]
Ck0.15%0.85(20-F)

C8E10.155-10.85(21-k)

1=
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Solution. ¥RINFAEME, BI e — SURHEE, WA B fER sy 20 — 1 = 20
1=314 .

2. fE AT 3R A uE R, IERRE ().
(A) BA A EE RV RS R il I SR P A i e — D e —E
FRIZ IR T Py D 5 R P SR fe e — 25 R
(B) A4 U2 — SO R i Rl P 45 SR PP IR B i — s L B —5E
T R il D 25 R P SR e e — 2 R

(C) & —ME R = SRR R e I 25 R SR BeJa — 4 s, e —
TESRIZ IR e i P 25 3R S i s — 4 R

(D) HA A4l R TR IR Tl D 28R P SR e — 2 L e —
TE VR el i 4 SRR S R
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R, IEHSN p.
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e, W ABD HANKT
A HR 4 1 T el P A o el s ) B e — N R 2 B, B C IR O
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1. TCP/IP RIS R ()
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